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Code Coile
PART - 111 : 105. Name the type of reaction, when lead nitrate heated to dark brown.
PHYSICAL SCIENCE (1)  Electrolytic decomposition (2) Thermal decomposition
101. When ice melts, its temperature (3) Double decomposition : (4)  Photolytic decomposition
(1) increases (2) does not change 3& étﬁés 34 D S0DHD R &0 B0 Taing DeHEoD0d. 38 D B%0S B8 ?
(3) can’tsay (4) decreases "
S0 0K EOASIPE T°D A (1) ey ISP 55 () &R IS 5
(1) DHHDHOY (2) S8 (3) &gods JAArNo (4) S5°08 IAK SG;
(3) DIBSw (4) SHSHod
106. The spoilage of food can be prevented by adding vitamins as preservatives.
102. Find the temperature of a mixture of 30 gms of water at 40 °C temperature and 70 gms of 8355550 DESIKI0G° DOT00E3 D IrSSH Kord ?
water at 20 °C temperature. ©
40 °C &Y Ko 30 . De3D 20 °C SPYS Ko 70 . eI 5OB, & Do () AB (2) D,K
3) AK 4) CE
QBwE), SO S NS
(1) 16°C (2) 70°C 107. We get diminished image with a concave mirror when the object is placed
(3) 24°C (4) 40 °C - { (1) at‘C’ (2) between pole and F
(3) beyond ‘C’ (4 at‘F’
103. Zn + HCl— ZnCl, +H, - DTS B55y08 DGE ($5ODow SOSrmo SXy SOSre0 Yol ST &od
Itisa reaction.
(1) Reduction (2) Redox 505%0.
(3) Thermal (4) Oxidation | , « 0 &
Zn + HCl—> ZnCl, + H, (1) *C 5 3D &0 (2) ¢ 2BAW F © 50855 5:9:9 063
30 &8 55 (3) 3P C D 850 08 4) 3D 'F 5 608
(1) §ansses (2) esdystes EoHEtE |
| 108. “Light selects the path which takes the least time travel.”
3) & ' (4) &*%5599 | This statement was given by
(1) Fermat (2) Snell
104. Which of the following will be injected when honey-bee stung ? (3) - Hygens (4) Newton
(1) Fenmicacid (2) Buccinicacld “0 JOTVET (SO SO0 SENST GOG STy JOHEOLNOB” @) BV
(3) Common salt (4) Vinegar | & .}’ X P A" 4
83631 835590 ¥050E8 38 ranSo. THIY
(1) 85 &0 (2) $8y08 esfyo | (1) 075 2) S
(3) Do Gy (4) 32nE | (3) RS () SrgoS
r MPC/EET |21] Turn Over
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113. Which of the following is an antiseptic ?

109. In torch light the bulb is placed of the reflector.
(1)  very near to focus (2) atradius of curvature 5
(3) at centre of curvature (4) between pole and focus & (300 F2&° 30&3"%5 ™ 3D ﬁa‘go
¢35y BeS weny SoSEEO B0 3¢5 SOHED. (1) Na,Co, (2) NaHCO,
. (3) NaCl (4) Na,SO,
(1) =93 snomr (2) &8y SET° :P,S@"go 3¢ :

3) SEo°Soso 3¢ 4) &ySo, Tho D 114. For the same angle of incidence on media P,Q,R angle of refraction is 45°, 15° and 35°
respectively, then write the medium in ascending order of velocity.

2.3 5835 00 De0SH P,Q.R airSstod® 5186555 Serren S 45°, 15°, 35° e900S

110. An object of 10 cm in size placed at 20 cm in front of a concave mirror of focal length
10 cm, then the size of the image formed is . ¢38° 508 Irew, (8% E0é) |
(1) 10cm (2) Scm | | () R<P<Q (2) Q<R<P
(3) 20cm (4) I5cm - (3) Q<P<R (4) P<Q<R
10 20.2. TgPOSE0 Ko HETSY ($8)E0 SN0 20 20.. ¢rEod” 10 20.2D. |
’ 115. The colour of the sky appears to an astronaut is
S503°890 KO SKYH GODS e (38D 02 SOXTEI0 20.a0.08" (1) Blue (2) Orange
(1) 10 20.5. 2) 50.%. (3) Red (4) Black
! S8 est¥o §5208 S0k
(3) 20 o.3. (4) 1520.2. |
(1) oo (2) esSoe
1. ;l:lic nature of substance converts blue litmus to red, but no change ot colour with red 3) 59 ) S
itmus is
(1) Base (2) Neutral
(3) Acid (4) Can’t decide | 116. The quantum number, which says about the size and energy of an orbit is
2.5 ST°F0 P Hexd AT 0IH ST, T 0O HEND GBI JHY Bord Ko 8.8 5§ 5 AwE), 5057630 DO ¥4 3D 525080 Sog
SPASOTT SrtD)R0. A3 (308 JerS0 GOLHD. (1) n 2) [/
3) m, 4 m
(1) 06 (2) S&Y
3) o , 4) 5353331)3 117. This is convex lens made up of three different material. How many images does it form ?
&e O0ES™E K80 St S55tH STTOS SArD IaHedod. 8d D (38
112. Magnesium reacts with HCI produces gas. Doer® ;50@5
(1) Oxygen (2) Nitrogen |
(3) Chlorine (4) Hydrogen I'
Dhyaabo, TIEEOE e5:g08’ 3t 20DISIY BHIH ;6" bSO TAWYH |
(1) &8y 2) JEwd o] \/
. 1 1 (2) 4
3) §%08 @) &S (
3 § 2t | 3 2 4 3
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118. Which of the following has high electronegativity element ?
(1) Cesium (2) Chlorine
(3) Fluorine (4) Hydrogen
808 T¢36° &SR 20s AT E BN Sareso
(1) DdRAvO 2) §6S
(3) 0 4) TEwS
119. Which of the following pair has same properties ?
52 (308 Te3&" 2.3 BEDS Foyed 5N Soroste e
(1) NaK (2) Na, Mg
(3) O,F (4) H,.Cl,
120. Which of the following is not ionic compound ?
2 (3080 TIE° DB edPE Jdy#so o ?
(1) NaCl (2) AICI
(3) MgCl, (4) BeCl,
121. Number of sigma and pie bonds in N, molecule
N, ©e0HED DTy, D VOGP SHIT
(Hn 1,3 2) 2,1
3) 1,2 4) 3.1
122. Octet rule is not valid for the molecule
Q¥ AdDo 3055 96205y
(1) €O (2) O,
3) H,0 4) CO,
MPC/EET [24]
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124.

126.

127.
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Which of the following is correct in the case of overlapping of orbitals ?
e38)67°¢) IISINSD $0L0HOD & (808 TIE” IB Besgw ?

(1) S-S>S-p>P-P (2) S-P>S8-S>P-P

(3) S-S<S-p<P-P (4) P-P>S-S>8S-P
The unit of potential diffcrence 1s

(1) wvolt (2) watt/ampere

(3) joule/Coulomb 4) All

FEYaHS 8D (SSreTed

H ¢ (2) °¢5/e30D09Hb

3) &S/%rwod 4) 23

. A bulb is marked 70 W and 210 V. Its resistance is

2.5 220y 2es 70 W 800 210 V e 158050888, ol A6'G0

(2) 70Q
(3) 280Q 4) 630

A 100 Q resistance cut into five equal parts and are connected in parallel. The equivalent

resistance is

100 Q DEBS50 20 DS erTrent oD T DSrodtsnm 5908 39S

&S50
(1) 20Q (2) 100Q
(3) 4Q 4 50

If the length and diameter of a conductor both are halved, the resistance of the conductor

become
(1) 4times (2) doubled
(3) does not change (4) halved

2.5 TS50 MY O TSN IS SAY T AFESW
(1) 4 3L DHIHOD (2) CedoSivdd

(3) 8 (4) Ko HHod
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The direction of current flowing in the coil is shown in the figure, what type of magnetic
pole is formed at the face of the coil ? '
(1) East ~ (2) South
(3) West (4) North
306" Bif 948" DS (HI5 OF SrSdod. B0 SrYS) SO0DYH Iy &S0
(1) &ty (2) &8es0
(3) D&Y (4) adbo
If the angle between moving charge and magnetic field is 8. The magnetic force acting
on the charge is given by f=
508 e3d, wabPEd FE08 DGEHo 07 GHLond & edFon IITW
0O 200 f=
|
(1) qVB m— (2) qVBcos6
(3) qVB Sh: o (4) qVBtan®©
Generator converts mechanical charge to energy.
(1) Sound (2) Light
(3) Electrical (4) Wind

23:50€06 ASro(% ¥3D O ¥§ St o ?

(1) &€ 2) 500 ¥4

(3) degd 4§ 4) 555 %8
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133.
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generated in a closed loop is equal to the rate of change of magnetic flux
passing through it.
(1) Motional EMF | (2) Induced EMF
(3) Motional resistance (4) Induced resistance
2.5 5058 &inS" G BwE), e G IHOG*IHAD WADIES VHTTY
Sty T B3SO,
(1) K58 5ol 200 (2) (2O 5T VOO
(3) K3S &G0 (4) (DB D& o
Pick the odd one
(1) Galena (2) Zinc blend
(3) Cinnabar (4) Bauxite
308 T¢38° HH I,
(1) Ado (2) 20§ Zok
(3) Db (4) &3yS
For the purification of Blister-Copper is suitable.
(1) Poling (2) Distillation
(3) Liquation (4) Electrolysis
$0%g 596 & SE8 oo HE BoH2HD.

e L i

(1) dol (2) N0
(3) HKedso @) DsBBIE (HEAD
The flux used in the extraction of Iron.

(1) Silica (2) Fhint
(3) Feldspar (4) Lime-stone

0% &5 Sopiresod’ T8 (55570

(N ds (2) o&S
(3) 6 (4) 3D orow
MPC/EET [27] Turn Over
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135. The catalyst used in the hydrogenisation of oil is 139. A bulb is marked 60 W and 12 V is connected to a 12 V source, its power will be

(1) Pelladium (2) Sunlight 60 W, 12 V e {;le};é)cﬁc} ﬂ@a&'i) 12V arﬁaéé 998, @8 IDArA0D ﬂd};jé

(3) Nickel (4) Molybdenum |

. F0Ys50
330 TERESRE’ 36 &350
_ (1) o60W (2) 6W
(1) Jegrdavo (2) 8508 (3) 06W (4) 0.06W

140. Which of the following undergoes substitution reaction ?

(3) J3S 4) ;5,-@%-;}53
(1) Alkanes (2) Alkenes
- & (2
136. On what basis Pauling assigned the electronegativity values ? ) #diymes (4) Both(1)&(2)
: f:

(1) Bond energy (2) Bond length Sod T [_;5?33599 B O DY)

(3) Bond angle (4) All of the above () edy 2) e@bmn

Pauling 3¢3 esgrSorne 2anes Dﬁosa‘é&ge:ﬁ QDEVIOD gc‘ﬁaﬁ'a‘clda ? |

! 3) &R | (4) (1)00d5» (2)

(1) 208 %3 (2) 08 &rSo
' 141. CH,-CH=CH=CH,

(3) @0d 80 (4) 23
E Name the IUPAC name of the above compound.
(1) Buta2, 3 -diene (2) Buta2,4-diene
137. Convert boiling point of water at STP into Kelvin (3) Butal, 2 -diene (4) Butal, 3 -diene
STP 3¢ Je3 Sothid &Pies 3O;SE” Srdyod. | CH, - CH = CH = CH, &%), IUPAC 750
() 373K (2) 100K ; (1) ewer 2,3 - Gow (2) ewrser 2, 4 - Eawed
(3) OK (4) 273K ,'
| (3) e 1,2 - GoweS (@) e 13- Sard

138. During refraction, which of the following property of light doesn’t change ?
142. The general formula of ketone is

(1) Direction (2) Frequency
(3) Wavelength (4) Velocity 208 T°J&° 465°S SDaH BBrIE0H BDHIO.
3 da5550 BRSSP 708 & SrEo°D. . R
() HC=0 2) R-O-R
(1) O% (2) IS0 R
O
(3) &BOK B3G50 (4) 3o 3) R- ¢ OR (4) R-OH
MPC/EET [29] Turn Over
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I : = 5 s R ; ' : ocal leneth of the lens, if the power of the lens is— 2D
143. Refractive index of glass with respect to air is 2. Then the critical angle between air-glass 147. Find the focal leng

2) 50cm
. S ey (1) 49cm (
interface is | | (3) 52.5cm 4) SScm
™ SEOT ey S84 0080 2. rer—1rd 595 S0 Bk, 500k a0 5083 eo¥ Y50 — 2D WD & K SgTj0sto
() 30° (2) 31.86° (1) 4920.%. (2) 5020.20.
3) 45° 29° 2
i ) &2 (3) 52.520.2. (4)  55%0..
44. * ) * ¥ » H ! 1 s L -
144. The unit of refractive index is | 148. What is the value of Planck’s constant ?
1) Degree 2 adiz
E3: (l:‘i (2) (4) - Fos ?gmogo e .
o G LA N 3 I
(e ] B (1) h=6.626% 10732 Js (2) h=66.626 x 107'3Js
SIS rhoeato Gy Eirere : (3) h=6.626x 10733 Js (4) h=6.626x 10" Js
() &ifiew (2) BEoHH 149. Which rule is violated in the electronic configuration 1sZ 2s? 2p* ?
- _ s (1) Bohr (2) Pauli
(3) (1) 08as» (2) @) B (3) Aufbau | (4) Hund
i 1s2 25" 2p* gags DT5H508" Q AAD0 BGEDOSVESE ?
145. The focal length of plano-convex lens is 2R, its radius of curvature is R. Then the (1) &6 2) 2
refractive index of the material used is ' |
(3) 5T 4) Svok
2.8 S&0 HOF'SS KO T7grgosL0 2R, JEST® T5RP0 R ons, Scirds Ta:s .
N aye élé'?ﬁﬁﬁ 1oes¥0, | 150. Temperature of a body is directly proportional to

(1) average kinetic energy of the molecules

(n 2 (2) LS (2) average light energy of the molecules
l (3) average potential energy of the molecules
) 2 (4) 1 (4) average total energy (KE + PE)
S0P GRS 08’ drd oS dotwod.
146. FOCfl] lc.ngih of th? ]]Iﬂnﬂ-{‘?ﬂl]({ﬂ\’{}- lens is when its radius of curvature of the : (1) e Jo°90 Kde: ¥
surtace 1s R and n is the refractive index of the lens |
| 2 OO 5P 48
n 58255 106050, R S TGP0 KO 28 BEO HEFTE Kesro Gy, Tgr0860 . (2) OO HTHO SPod ¥
_= ' ~ v 9
0 = R e ! (3) ©ERIHO Jo°0 LB ¥
=) 7 R | (4) oD SO0 P ¥ + e 7§
R n-| | |
A o Ry

- | ET 31
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